Sl 6 FE FHTRERERBIRHELER
j A E—REER ERRER E=RRR (8) s
5 B RAETE | = ana| P2 | @
AR |y | BRE mRE ofss| MRE | BRE QR SRE | BRE T =13 NG
® | suigy | M)
ESTT 8&iEE | 121 110 | 65 |5/19(H)] 58 | 16 16 | 12 | 1 | 101
EHH (BHVE) EHmcat | 6 |(\EmE| 6 | 2 [52008) 2 | 1 [6/22(1)| 1 1 0 6.0
AT 3zi2E | 4 || 4 | 4 [52100| 4 | 3 3 1 21 o0 2.0
A | SR SEHEU 0 5/22(7K)
B |¥#=8 SEHEU 0
Z |[fRIEBRD SEHEU 0
BHEL 20%72% | 33 |@E@E#E| 33 | 28 |5/12(H)| 28 | 23 |6/1(+)| 20 | 18 | 0 1.8
oA (128RE) 12f8E | 2 | st | 1 | 1 1] 0 o [ ol o -
R (E5RE) SEHEU 0
& &t 166 154 [ 100 93 | 43 40 1 33 [ 1 1N
ES T 12%%E | 31 [7/11(N)] 21 | 12 8 | 6 5 5] 0 6.2
EHH (BHVE) BHMcEs | 1 (7128)| 1 | 0 |81 0 | 0 [831k)| 0 | 0 | O -
AT sgigE | 0 [713(1)| 0 | 0 [82&)| 0 | 0 |vw®]| 0 | 0 | o -
SR 2572 1 714 1 | 1 |s3(H)| 1| o1 o | o] o -
1R 1272 1 1| 1 1] 0 0| 0] o0 -
5 |ZEE ML -
= FEL S&EHEL =
12 HEHBEL ABZE[CTE} =
FHM (E5RE) S5%IEE 51 11 2 2 2 0 25.5
B (BHREHERE) EHMCED | 7 | 81| 4 | 1 8/31(1)| 1 1 0 7.0
oA (28RE) sgizE | 5 [82®)| 2 | 1 o/1B)| 1 1 0 5.0
R (1F8RE) 2%72E | 3 | 8/3(H) 1 | O o | 0] o -
ERMEELT (1RE8RE) SEHEL =
Eoghn (FXERE) SEHEU -
& it 100 42 | 18 10 | 7 9 [ 9 o 1N
C |PEm (ma) ZEE | 1 1] o0 0 [ 0] 0 -
= EH (EREZ (FEh'vE) ) 1%12E 3 [9721(x)| 2 0 10/15() 0 0 0 =
LA (i) 1ei2E | 2 |y22B) 2 | 2 2 | 2 | o0 1.0
S (BR) 1252E | 10 3 | 2 2 [ 1 0 [ 100
& &t 16 8 | 4 0 [ o 4 | 3 | o
BHEL w0&EE | 7 [wu@| 5 | 3 [10240)] 3 | 1 1 1 0 7.0
p |BE (RE8RE) HT4 11 5 0 0 0 0 =
A S (BIREFERE) EEWCE0 | 1 0 0 0 0 0 =
52 ARG (ERE) T8 0 |10/26() O 0 11/17(8)| 0 0 0 -
R (18RS EF4 0 0| o o | o] o0 -
1RAET 12%2% | 5 4 | 1 1 1 0 5.0
& &t 24 14 | 4 3 [ 1 2 | 2 0 -
wast 306 218 | 126 106 | 51 55 | 47 [ 1




